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_,]/Cﬁ[x b y2edx — 8y - 45 = U-émﬁmaaﬁfam . 1

Fmd the «centre of the circle X2 + y2 - 4x”r 8y - 45 = 0. |
/(»x+3)8%ﬁmfr?ﬁm*=raaﬂﬂﬂs{m$€r: o o T
‘ Fi:.1 “the value Ib_f third term in expansion of (x + 3).

(A) % fr s 3, AR A= Q - | L
How many elements has P(A) -if A=Q?
m45° + ¢o0s30° 1 °AF Id SHifd | | 2
" Find the value of SindS° + cos30.
5.‘ in2x T STTHT A FiTeId | | : . 2

2

" Differentiate the function sin“x:

-



- 7
x3 ) . ) T .
6. ‘?] ¥ YOR H A YT g e

7
. | .
Find the middle term of expansion [3— %—J

“7. ﬁﬁzﬁﬁl‘qﬁ Z‘?gf C. =gn 2|
: _ r=0

¥

1]
Prove that 2 3" °C, =4"
r=0

Sﬁﬁ U=1{1,2,3,4,56,7,89},A= [2; 4,6,8} B ={2,3,5,7}. L g
SIS F (AUB) =A’ NP’

[fU={1,234,56,789),A={24,68} and B = (2,3,5,7) then prove that~
(AUB) =A’NB’ '
9. .ﬁﬁq@ SHIfeTT tan3x tan2x\ﬁrﬁx = t:;m3x —Vt\anzylt — tanx 3 .

Prove that tan3x tan2x tanx = tan3x — tan2x — tanx.

10. /59 qraerd 1 THiE Fi Hife St y-amémﬁa:wﬁaﬁaﬂtﬁﬁ(z, -3) ¥ TE .
g ' _ - ' . 3

Find the equation of parabola which is symmetric. about the ywa:éis, and passes
through the point (2,-3). : )
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[3] A—30—6 5
Fmd the coordinates of the foci, the vertices, the CCCBIltI'IClty and the latus rectum
2 2

of the ellipse LN A
25 9
; . - m x#0
" Jim £(x) 1wy s o et £(x) =1 % 3
0, x_=0
lim f(x) ) x#0
* Evaluate x‘_‘;‘) (x) where f(x)={ x> "7
0, x=0
13. ?mw%n@meWMKmWSKH%l ) 3
Find the sum to n terms of the A.P., whose K™ term is 5K+1
14, -wimg w@em z:-ﬁﬂammm%aqa’aﬁmfmamﬁﬁm - 3
Find angle and modules of complex integer Z=—,/3_ +1
15. @f& "Cy - "C, q "C, | Wi 3
f "Cq - "C, Find "C, |
o N B wenfE Ff R 7 T e e 3

Verify by the method of contradiction'P‘: J7 is irrational. .

WW#@Ia%Wx“+ax“;‘+a2x"‘z+ ...... +aIx + a" T TFHAS

A Hifera | ' ' 3
Find the derivative of x" + ax™! + a2 x“‘2 + crere + a™1x + a" for some fixed real
number

FYI.
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18. /e Feremrer 1 20 STeaTges & < i 1 shfteRt TR € 5 9 12 I e ¥ @i 4 iifet
vﬁmaﬁlaﬁwﬁ%lmﬁawwﬁﬁmm%? 3

In a school there are 20 teachers Who teach mathematics or physics. Of these, 12
teach mathematics and 4 teach both physics and mathematics. How many teach

physics?

19. '\‘}ﬁneN n#l%mmﬂmﬁm@ﬁmﬁ 4
_I_ _1.+L-.|_ . ..|_ 1 -—;.n_
12 23 3.4 ----------- n(n+1) n+

1 1 +1 ) | _._n
ooooooooooo n(n+1) n:l-l

- ib
2@/_% K‘H}’—L (3 ?ﬁmﬁﬁﬁqﬁm’x2+y2—l

_ ) a+1b
If X +1y=7 b’ , prove that x2 + y2 = 1.
)/QUAHONW%amﬁ@aaﬁmém@raﬁmmaﬁﬁm 4
Find the permutations of ihe letter of the word: EQUATION. |
'/z/ﬁm‘mmﬁmumqaa_nwmmwm%a‘r&mﬁﬁm 4

Given a G.P. with a = 729 and 7% term 64, determine S,.
23, w ‘Qﬁﬁ (xls Y- Zl) (Kzg Yo ZQ) ﬁmﬁ‘g- Y3s 33) % l mm & ﬁ%mm
FifT | .
Fmd the cnordmates of the ceritroid of the triangle whose vemccs are (X, ¥y ZL) |
(x21 Yo 2.2) and (x3: Y3 zﬂ.} ' ’
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_zaﬁﬁﬁf =9- ﬁmﬁahvmﬂmaﬁﬁm| - 5

Find the value of Domainl and Range of real function f(x) - 9— x?

sinx — siny

X—y
: =
25,/?-93 5 COSX + COSY a.n 2 >
Prove that :
511'13( —siny _ tan XY
£0SX + COsy 2
26 1 srafiemel =i s A ear ;. s
2x +y>8
X+2y2>10 . - _
Solve the following inequalities with graphical method :
2x + y > 8
X + 2)! > 10
27/f9/:;$°rﬁvrqﬁﬁﬁi§(x,,yl)@aﬁmﬁﬁaﬁﬁ@Ambc O%’Wi@iiﬁiﬁﬁm
A(x-x) +B(y-y)=0%I _ | | 5

_Prove that the line through the point (x,, y;) and parallel to the line Ax + By +
C’—OISA(x—x)+B(y yp) =0.

x +3x+5 . '
28/§—Hf — 1 W= 1 ifeie | ‘ ' -5
x% ~5x +4
x2+3x+5_

lFmd the domain of thg fgnctlon ( ) :.x_z_l‘__ 5x +4
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(1) TR0 $E H R

(2) U= 3o Tl R
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5

One card is drawn from a well si.uffled deck of 52 cards. If each outcome is equally

likely, calculate the probability that the card will be

(i) a diamond

(i1) nof an ace

(i) a-black card

.0ao.

© 30. %S F o mea & Wiy weg fagem Hifea 6
BIGIED 10-20 | 20-30 | 30~40)40~50 | 50-60 | 60-7070-80
oEl w e | 2 3 8 14 8 3 2 .
Find the mean deviation about the mean for the following data :

Mark obtained | 10-20 { 20—-30 | 30-40 [ 40-50 | 50-60- 60—-70 | 70 —80
Number of ' )
~ 2 3 8 14 8 3 2 .
Students’ : - N



